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2. Match each equation with fts sketch  (please write the equation under its sketch
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THE PARABOLA AND OTHER NUMBER PLANE GRAPHS TOPIC TEST -
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Sketch the parabols, indicating all the features above
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For the parabola y

Find the length of thw radlus in each circle . Answer T simlest surd form where appropriate .

4,

Find

i

the y-intercept

22 +y? =49

a)

the x-intercept

H)

X2ty =123

b}

eiry

s -

Yo

the axis of s

if})

x2 y2=12.25

c)

the vertex .

iv)
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5. Find the equation of given curve {use = ax® +d ) /
— . ]
y : /
- . 1\ . Determins the equations of the parabolas below *'\
4% " T ) \
Leave your answer in the form y=ax* +bx+c '
i) ii)
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6. Find the equation of hyperbola (¥ = " )
& &
J
7. Determine the equation of the‘given graph o . . *
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2. Match each equation with its sketch  (please wilte the equation under its sketch )

STUDENT NAME
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THE PARABOLA AND OTHER NUMBER PLANE GRAPHS TOPIC TEST

1. Complete the feature of the given graph .
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v} Sketch the parabola, indicating all the features above
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For the parabola y=x* —4x-12 ’1(}\'/ J@Aﬁ}( Q, /{(9)
Find ) 4. Find the length of thw radius In each clrcle . Answerln stmlest surd form where appropriate.
= 0
i the y-intercept et X = i e
Y= (Y -4(0)-12 . ] R
424 =2 a) xP4yr=49
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if) the x-intercept ‘
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6.

7.

g

Find the equation of given curve {use = ax* +d )

g:aiS+d,
. : X v
Sk on psint (1,00
0= a(l)3-]
| = a
equation ¢yt

Find the equat[on of hyperbola {y = % }
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k=5v2 _
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q ‘ Y =<
Determine the equation of the given graph
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Delermine the equations of the parabolas below

Leave your answer in the form  y = ax® +bx+e
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Y= A(X-=)(x-p)
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swb in point (4,4 ;
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S b=y
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4 3% } = 4(-1)
Q= =4



